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ANTHROPOLOGY
PAPER —1I

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Haemophilia is due to :
(A) Multiple genes (B) Sex-linked gene
(C) Autosomal dominant gene (D) Sex-limited gene
2. Proconsul was found in :
(A) East Africa (B) South Africa
(C) India (D) Egypt
3.  Who has used the terms ‘Primary’, ‘Secondary” and ‘Tertiary” races ?
(A) Boyd (B) Hooton
(C) Guha (D) None of these
4.  Which of the following is also known as Pan ?
(A) Gorilla (B) Chimpanzee
(C) Orang Utan (D) Gibbon

5. Who wrote the book “Races and Cultures of India” ?

(A) Guha (B) Sarkar
(C©) Majumdar (D) Vidyarthi
6. Neanderthals were :
(A) Of bulky body (B) Proficient Hunters
(C) Skilled tool makers (D) All of these
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RISCREEIN]

LEELERI

qe: 39 WA H A (50)THE T 1 TEH WA &k Q& (2) 3w &1 Al WA F W

HisL
1. RHIBITCR % R ¢ :

(A)  agfay S (B) T Herm SfiA

(Q) SRS Yad St (D)  fo wifta si=
2. YrRIge el 9l S §

(A) T SRR (B)  Tferoit 3ffShent

(C)  WRd (D) TH&

3.  foruw wrarfyes fgcdtar qen gt gsifa SI9 afifiren Sreai st 9imT foha
(A) wmEE (B) A
< T (D) T8 9 g T

4. T8 9 hIF YT S 9 9 ot ST S ?

A) T (B) HWR
(C) HSHSR (D) foremeft
6. e 9
(A) T HTT A (B) I 3TETH
(C) =X U feian (D) SWE |t

J—0705 3 P.T.O.



10.

11.

12.

Mendel is known for :
(A) Modern Genetics (B) Classical Genetics

(C) DNA structure (D) One gene one enzyme hypothesis

Meiosis is the process of :
(A) Multiplication (B) Duplication

(C) Reduction (D) Translocation

Stature depends on :
(A) Genetic (B) Environment

(C) Genetic and Environment (D) None of these

Who established the genetics of ABO blood group ?
(A) Landsteiner (B) Bernstein

(C) Penrose (D) Weiner

Whorl pattern type is characterised by :
(A) One triradius (B) Two triradii

(C) Three triradii (D) No triradius

Identify the correct sequence :

(A) Zygotene — Pachytene — Diplotene — Diakinesis
(B) Pachytene — Diplotene — Zygotene — Diakinesis
(C) Diplotene — Zygotene — Pachytene — Diakinesis

(D) Diakinesis — Diplotene — Pachytene — Zygotene
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11.

12.

(A)  STYfTR SATElRTeRd (B) IS TR

(C) ST Y (D) T Sitd Teh TITEH qRehedH
Tenfa Th GHAT ¥

(A)  TUH 9ERAT (AT ) B)  fEoitRtor (gwftener)

(C) g (fewM) (D)  TIHRRY (ZFHERIM)

e 3 W F@ ©

(A) SR (B)  ddmeRyl

(C)  Tafireh IR ararere (D)  TH | HIE @

(A) eRER (B) oA

(C) TR (D) =R

7 Yot ol fheeh g favrsiera foman 7o © 2

(A) T TRiead (B) < eI

(C) o crEifead (D)  wIs ey &
& %Y g .

(A) SR — UM — fewiidh — srEeEAfag
(B) TN — fewidH — SiEifed — SEwEAEd
(C) fewiidd — SEahlfed — U= — SRhAad
(D) &R — fewEH — e — Sgehifed
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13.

14.

15.

Identify the correct sequence :

B

~—

(
(
(
(

Match the following List-I with List-II :

List - I
@ 2.1.2.3
(b) 1.0.1.3
© 2.1.3.2
d 2.1.3.2

@@ () () (d)
(A) @ @) (3 (v)
(B) (v) @) @ ()
(© @) Gv) @ ()
(D) @@ @ (@v) (i)

Match the following List-I with List-II :

List - I
(a) Monozygotic
(b) Survival of fittest
(c) HLA
(d) Colourblindness
@@ () (o (d)
(A) @) @ (@v) (@)
B @O G G@ )
© @ @) @ (i)
(D) @ G @) (@)

A) Primate — Mammalia — Hominidae — Homo-Sapiens
Mammalia — Hominidae — Primate — Homo-Sapiens
C) Mammalia — Primate — Hominidae — Homo-Sapiens

D) Hominidae — Mammalia — Primate — Homo-Sapiens

List - II
Prosemians
Marmosets
Man

Daubantonian

List - IT
i) Darwin
ii)  Sex-linked
Twins

iv) Tissue antigen



& THA T :

13.

WEHE — ATl — BHiHIS! — BT
HHf — BTSN — FEHE — BHI-HTd
HHf — HIgHS — SIS — SIS
BT — T — HigHE — BHI- |

Tl-| 1 -1 | gaferd

14.

—~
—~ = =)
(ep)] o [q\l
(q\l L o
Ll (@) Al
(q\l — [q\l
© o T
N—" N N

- —~ ~~
> = = B
d R — o=
N N N N ~—
_ =
N~ N~ N~~~ ~—
~
_  ~ '
<) — o= > —~
) ) Rl )
N~ N N~ ~—
~—~ ~
« ~—~~ o= )
N N N N ~—
—~ —~

-1 oht -1l 9 gaferd =L

15.

=1l

qei-

()

Tehiea!

()
(b)

T gmfdhd

(i)

AT ot STSIa

(TEEad ATw fhe=)

T UT,

el

(i)
(iv)

(©)

feep TS

-~ o T O T

-~ o T O O

- ' N~ N~ ~—

- N N ~—~ ~—~

P.T.O.

J—0705



16.

17.

18.

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Sagittal crest is formed in higher primates like Gorillas.

Reason (R) : Sagittal crest is formed in Gorillas as they have big skulls with massive
jaws and strong masticatory muscles.

(A) Both (A) and (R) true
(B) (A) true but (R) false
(C) (A) false and (R) true

(D) Both (A) and (R) false

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Stereoscopic vision is found in Man.

Reason (R) : Stereoscopic vision is found in Man for the expanded brain has pushed
the eye sockets forward.

(A) (A) true but (R) false
(B) (A) false but (R) true
(C) Both (A) and (R) true, but (A) is not the correct explanation

(D) Both (A) and (R) true

Which is the correct sequence of glacial periods ?
(A) Mindel — Gunz — Riss — Wurm

(B) Mindel — Gunz —Wurm —Riss

(C) Gunz —Mindel —Wurm —Riss

(D) Gunz —Mindel —Riss — Wurm



16.

17.

18.

F (A) 3R FRU (R) 1 &1 q Jgat Fefafad g9= & 3w S|

HUT (A) .  GHHaH forde-TMe & T % S fashfad TR amR § b9 S

HRUT(R):  GuiHaned frde mite o & Sucrs 21 § Hife ST o8 Hud, fosme sog
3R FHaTel SfBemed TieaferET @ €|

(A)  (A) IR (R) T T
(B)  (A) Wl (R) TTerd
(C)  (A) T (R) W

(D) (A) 3R (R) M Tord

®AF (A) :  THa | Fafom g Bt 7

FEOT(R): ot < weE A € it st W i w5 fawata Wi o
i 3TN Gherdl B |

(A)  (A) 5 (R) eI

(B)  (A) T (R) W

Q) (A) IR (R) I F& AR (A) T =T T
(D) (A) ¥ (R) T W

TowT 1 Wt HH T ?

(A) T — T — @ —
(B) FA — T — g — f
© 9 —Fa— g\ — ™
(D) T — et — @ —
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19. Choose the correct sequence of geological stages :

(A) Miocene - Pliocene - Pleistocene - Holocene

(B) Pliocene - Miocene - Pleistocene - Holocene

(C) Pliocene - Miocene - Holocene - Pleistocene

(D) Miocene - Pliocene - Holocene - Pleistocene

20. ‘Half-life’ is:

(A) Average half-life of a species in years

(B) Average life-span of all the species in a given ecological zone halved

(C) Average number of years needed for C!# accumulated to become half the quantity

(D) None of the above

21. Match the following List-I with List-II :

List -1

(a) Willard Libhy

(b) B. Subha Rao

List - IT
() Birth of Indian civilization

(ii) Pre-and Protohistory of India and Pakistan

() Raymond and Bridget (iii) Personality of India

Allchin

(d) H.D. Sankalia

@ (b)
(A) (v) (i)
®) (i) )
@ @ (i
(D) (i) ()

(c)
()

(iv) Radioactive carbon

(d)

10
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22.

23.

24.

25.

26.

27.

Harvesting cultures refer to :
(A) Neolithic (B) Mesolithic

(C) Neither of them (D) Both of them

Kitchen Middens are evidence for :
(A) Upper Palaeolithic (B) Mesolithic

(C) Neolithic (D) None of the above

Which megalith is a single erect-stone ?
(A) Cist (B) Cairn circle

(C©) Menhiv (D) None of the above

Predominant geographic area of India where chalcolithic flourished :
(A) Central India (B) North-East India

(C) South India (D) West India

Black and Red ware is associated with :
(A) Indus valley civilization (B) Chalcolithic cultures

(C) Iron Age of South India (D) None of the above

Earliest evidence of domestication of animals and plants is seen at :
(A) Olduvai George (B) Jericho

(C) Tilwara (D) All the three

J—0705 12
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23.

24.

25.

26.

27.
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28.

29.

30.

31.

32.

A squarish ground and polished stone-tool with a perforation in the middle along with
the buried dog was found at :

(A) Burzahom (B) Brahmagiri

(C) Daojali Hading (D) Inamgaon

An eight-legged carcophagus is an evidence for :
(A) Mesolithic (B) Chalcolithic

(C) Megalithic (D) None of the above

The peak of Indus valley civilisation was between :
(A) C. 2300 - 1700 BC (B) C. 2800 - 2000 BC

(C) C. 2000 - 1500 BC (D) C. 3000 - 1500 BC

Upper palaeolithic sites of India are at :
(A) Renigunta (B) Billasurgam

(C) Both of them (D) Neither of them

Moraines are useful in understanding :

(A) Palaeolithic cultures

(B) Pleistocene environment

(C) Climotological changes during the Quarternary era

(D) None of the above
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28.

29.

30.

31.

32.
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33. Given below are two statements labelled Assertion (A) and Reason (R).
Assertion (A) : All tools are artefacts but not all artefacts are tools.

Reason (R) : Any product of human action is an artefact, but not all artefacts, can
be used as tools.

On the basis of the above choose, the correct answer from the following :
(A) Both (A) and (R) true

(B) Both (A) and (R) are true but (R) is not an explanation

(C) Both (A) and (R) are untrue

(D) (A) is true and (R) is untrue

34. The emerging trend in Anthropology is :
(A) Culture studies (B) Bio-cultural studies

(C) Ethnic studies (D) Economic developmental studies

35. The historical development of Anthropology may be traced back to :
(A) Darwinian theory of evolution (B) Beginning of the 20th century

(C) Enlightenment period (D) Colonialism

36. According to Malinowski, the motive behind kula is :
(A) Social and psychological ~ (B) Social

(C) Socio-economic (D) Cultural

37. Genealogical method has been introduced to Anthropology by :
(A) E.B. Tylor (B) L.H. Morgan

(C) W.H.R. Rivers (D) B. Malinowski
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33.

34.

35.

36.

37.
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38.

39.

40.

41.

42.

‘Comparative Sociology” is the term used for social Anthropology by :

(A) B. Malinowski (B) Emile Durkheim

(C) Claude Levi-Strauss (D) A.R. Radcliffe-Brown

The concept of unilinear evolution was first put forward by :
(A) Julian Steward (B) Elmun Service

(C) E.B. Tylor (D) Franz Boas

Kulturkreise is associated with :

(A) The American school of diffusion

(B)  The British School of diffusion

(C) The Austro-German school of diffusion

(D) All of these

Bride price is a marriage payment made by :
(A) bride’s natal group to groom’s group
(B) groom’s group to kin group

(C) groom to bride

(D) groom or groom’s group to bride’s group

Marriage of a boy with his father’s sister’s daughter is called :
(A) Endogamous marriage

(B) Kin marriage

(C) Patrilateral cross-cousin marriage

(D) Sororate
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40.

41.

42.
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43. As an approach to study culture, ‘historical particularism” was advocated by :
(A) Franz Boas (B) Ruth Benedict

(C) A.L. Kroeber (D) Gordon Childe

44. Napoleon Chagnon is associated with the study of :
(A) Hopi Indians (B) Mundurucu Indians

(C) Yanomamo Indians (D) Kwakiutl Indians
45. The brand of functionalism developed by Emile Durkheim is called :
(A) structural functionalism (B) Individualistic functionalism

(C) Societal functionalism (D) Tribal functionalism

46. Given below are two statements, one is labelled as Assertion (A) and the other as

Reason (R).
Assertion (A) Reciprocity is the basis of exchange relationship.
Reason (R) : Reciprocity involves immediate redistribution of resources.

In the context of the above statements, which one of the following is correct :
(A) Both (A) and (R) true

(B) (A) is true, but (R) is false

(C) (A) is false, but (R) is true

(D) Both (A) and (R) true, but (R) is not the correct explanation

47. Which one of the following pairs is correctly matched ?
(A) ‘Thick Description’ — Clifford Geertz
(B) ‘Configurationalism’ — Franz Boas
(C) ‘Neo-structuralism” — S.F. Nadel

(D) “Social Darwinism” — L.H. Morgan
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(A) (A) 3R (R) &&
(B) (A) W&l (R) TeTq
(©) (A) e (R) T
(D) (A) 3R (R) SHI &t oifeh (R) Tt =amen =& &

47. Trefafed § & sF-w Ha @& ¢
(A) off fefprem — MRS el (B)  FAMKIRM — Thel sIsT™
(C) el PHhatelcd — THUE. 92 (D) E¥d SRfafed — T T, |
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48. Which one of the following pairs is NOT correctly matched ?
(A) The theory of social structure — S.F. Nadel

(B) Social statics — Herbert Spencer
(C) The Rules of Sociological Method — Emile Durkheim
(D) The Origin of Family, Private Property and the State — Karl Marx

49. Four stages of social cultural evolution could be identified. Arrange them in order of
their supposed appearance :

(a) Band

(b) Chiefdom

(c) Tribe

(d) State

Code :

(A) a b C d

(B) a C d

(C) b a c d

(D) b c a d

50. Match an item in List-I with an item in List-Il. Use code given below :
List-1 List-1I

(Cultural Properties) (Name of Anthropologist)

(a) Culture is a sui generis principle (i) A.L. Kroeber

(b) Culture needs to be interpreted (i) Ruth Benedict
from social events

(c) Culture is both superindividual (iii) Franz Boas
and superorganic

(d) Cultural beliefs and practices (iv) Clifford Geertz

have an utilitarian value

Code : @ () () (@

(A) () (@) @@ (@)
(B) () @v) @ @)
© @ @ @) @)
(D) (v) @) @) @)

N AN O
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48. Trefafed § @ wF & 9 & §
(A) T Y AT Hiee R — TL.TE. T
(B) U Rfea — gale TR
(C) < & A1k ifvEretsed due — ufdfa ged
(D) < SIS i ke, JTgee Wael TUe § W — et "o

49. wMISH Gtk fask foehra s o Wl § TedH STl 8, ST 98l B4 o

a)

> 2 L2z

)

)
Q)
)

=

(
(
(
(
(
(
(
(

b C
C b
a C
C a

)
oo o
Qo o o

50. -1 o G-Il 9 gaferd i

-1 Ti-Il
(ieRfaew fagear ) (Fafeaanl o )
(a) HEHd TH FA S A @ a9 T (i) T HER
(b) ISR SIS ¥ &R i (i) % dAfew
AT i AT AT
(c) Wwpfa, sfEafes qen (iii) WS S
stfeifoss <M §
(d) HiEmiaer favard qer Ifq (iv) foTwrE firest
frarsit 1 =R qoa §
@@ (b (o) (d)
(A) () () @) (i)
(B) @i (@Gv) @) (i)
© G (@ @) ()
(D) (Gv) () (D) (D)

KN Nk HN
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